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I -2 are the Chapman - Kolmogorov equations .



Def : Given LBJ, tet, P) and B,B) ,
an adapted stochastic precess Xt :r→s

is a Markov process if it satisfies the Markov property , and
there exist Markov transition operators IQs ,t Iss t

sit
. Elf (XD Nsl = Qs

,
t Ns) tsst in T

,
ft BCS

,
B)

.

We've seen that the Markov property implies
the Chapman - Kolmogorov equations .

The converse is false .
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Prop : An independent increment process X is a Markov
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Let's focus on discrete time
,
for a moment

,

wleg F- N .

(XD n ex , {Qm ,
n

-

- esmsn Ces }
The Chapman - Kolmogorov equations imply that

Qm
,
n
=

:
.
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Finite -Dimensional Distributions
Let *they be a Markov process with transition kernels { qs.tl see .
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Prop : The law of Ht
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Now proceed by induction .
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